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% g [ 6 - 10 73-7.8 75 =
HAEE (mg) 100 37-58 47 =
B Y48 E  (mg/) 10 2.1-53 3.6 =
MY 4EE (mg/) 2,000 924 - 1000 956 =
WAL 4EE (mg/) 10 <0.5 <0.5 =
FEVHEE (mg) 0.1 <0.04 <0.04 o
MY ERHEE (ng) 100 28 -33 30 =
HHE  (mg/) 20 <10 <10 yoss
MaE  (mg/l) 0.5 <0.3 <0.3 =
REr AR (mg/) 1 <0.6 <0.6 o
FHEUEMER] (mg/) 15 <7-7.1 7.0 s
EEFEEE (m) 2,000 243 - 520 365 T
Ak E (mg/) 200 45 - 57 52 s
M (O 43 19 - 20 20 =2
T % Y8 (mg/) # - - - ;
EEeE

T (mg/l) 2 <0.4 <0.4 =
1 (mg/l) 5 <1 <1 =
#@  (mg/l) 0.1 <0.1 <0.1 e
% (mg/) 1 <0.3 <0.3 n
i (me/l) 2 <0.5-0.54 0.51 =
# (mg/l) 2 <1 <1 =
# (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
# (mg/) 2 <1 <1 i
R (mg/) 2 <0.4 <0.4 L
#  (mg/l) 5 <1 <1 i
¥ (mg/) 2 <1 <1 =
H 5 & &8 E# (mg/) 10 <7.0-7.0 7.0 P
W (mg/l) 5 1.3-15 1.4 =
o (mg/) 10 <2 <2 s
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Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR (mel) 0.01 <0.01 <0.01 =
FEZELEY
REE (mel) 0.1 <0.06 <0.06 &
EHEMELEY
1,1,1- = & Z Fe (mg/) 0.05 <0.025 <0.025 e
ZEBE -
% G R 4 & (me/) 0.003 < 0.003 < 0.003 s
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ik (kg/0.5h) 0.58 0.00 - 0.03 0.00 =
Z &b (kg/0.5h) 3.86 0.00—1.58 0.11 &
5% (ke/0.5h) 1.16 0.00 - 0.22 0.04 1k
FALE (kg/0.5h) 0.08 0.00 - 0.00 0.00 it
ALY

(L Z & (L & &5 8) 7.71 0.65 — 3.68 1.67 =
(kg/0.5h)

46 HER (kg/0.5h) 0.39 0.00 — 0.04 0.00 o
— & {Efi% (kg/0.5h) 1.93 0.00-0.83 0.09 =
(<) H39E ©

AL (kg/day) 9.25 0.06 — 0.47 0.25 &
“ & Ak (kg/day) 46.27 1.10 — 13.46 6.29 yiss
il (kg/day) 9.25 0.82-4.71 2.98 yss
#Ab& (ke/day) 0.93 0.00 — 0.00 0.00 yiss
&Y

(L = & 16 & 5t &) 185.06 74.95-111.82 97.04 =
(kg/day)

M bR (kg/day) 9.25 0.05-0.32 0.13 yiss
— &b bk (kg/day) 46.27 1.74-7.61 4.44 yiss
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?Aé?%cgj %) (ke/h) 093 0199 =
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(MEtaE & EEE) 0.73 <0.003 yss
(kg/h)

BE T (LAWR B% 5T 5D (kg/h) 1.45 0.205 =
BE R CUBEETE) (kg/h) 0.21 < 0.006 =
RO B E (kg/h) 0.19 <0.003 =
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HFHESBE B “:
FHeBGE—BNEER 0.0019 < 0.0003 =
(kg/h)
FHESBE_H)O:
B (kg/h) 0.0023 <0.0001 =
FHeBCGE _BNEE 0.019 < 0.0020 =
(kg/h)
7 (kg/h) 0.0019 < 0.0001 =
T BEHE (ng/h) 2,891 64 pss
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% i F5£ (7K) ([ ) 10.1-12.6 12.2 yiss
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E#EE ok (%) (B R FE) 69 - 99 78 =
FEEE:
¥ (ppm) 0.5 <0.5 <0.5 =
& (ppm) 0.1 <0.02 - 0.052 0.021 =
A E (ppm) 10 <0.5 <0.5 =
% (ppm) <0.5-0.63 0.51
#Y  (ppm) <1-2.0 1.0
¥ (ppm) <05-1.7 0.6
o~ 88~ B~ BEHY . <25-55 3.3 -
44 % (ppm) =
# (ppm) 20 <1-9.1 1.6 yiss
ALY (ppm) 10 <5 <5 =
AEEE (ppm) 10 <2-6.5 2.1 yiss
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B H 4y
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